[ $f14E9H238  (9/224188%) 158% IR7E)
[FREFHDZVIE]
TR R [ AB [ mEINZA EES
1|Ee™ 115 1| 194|EBL &t 788
2| =B EmS 44 2 167|WhEH B4 357
3| BB LT 194 3 115|858 2% 430
4l\bh&Ed 167 4 AL | BT ABA 1
5|BAm 21 5 26|88
AEEIE 26| s| 25|=%&#HT FE1
GiE:iS UEESDT 14 7 24| FEIB AT &t 788
8|MHEE™ 10 8 21|E@Am 105K 113
9| — &M 15 9 17|FEm 104% 116
10|HAH 11 10 15| =& 2018 88
11|EHEET 15 11 15|FEHEEM 301% 114
12|z 17 12 14| 2% 5™ 4018 147
13| K= 11 13 11|\ 501% 88
14| ST 1 14 11|{A=H 601% 56
FERR 15|[E B HT 1 15 11| &E2EEmT 701% 35
16|)I{= AT 2 16 10|18 & 801% 25
LEES 17| KRER 4 17 8|imHT 90mIU L 6
e 18|#E A AT 3 18 8|/INEF T
i 19| %A B Rt 7|EaiRE (fE=£)
20| FABET 2] = 7| AR EE et
A 21| 1@k A -] = 2 R
Eaf=ge 411 AR ” nEET tr&—] THEZ
23| e EnT 23 NEZE FL7-BaHHEE. H
24| E A - 2 |EmmEr BRBEOBZENH Y
25| AR EHT -] = 3| FEEAE 4,
N PR T o B T
27 | FE e T 3 27 2| T #BHET
28| &3 THT 6] 28 2| Bt
FLARE | 29038014 -l e e
30| #n2ET - 30 2| tRZERT
31| =5H7 - 31 1|29 HT
B 32| L ET - 32 1|E R HEy
33| RBFIAT - 33 1|2 REHT
34| =B EHE 11 34 1| R+
35| Fa BT 24 35 1| &=rrET
R 36 | RIEHS 1 36 ES ]
REAR BN 2| «Em
38| &R HET 1 38 1 | By
39| A ET 7 39
INES i) 1 40
B 41| HT 8 a1
42811 AF -l =
43| 4)IH] - 43
A4 F )& -l o
BIIER 45| F 4 45
46|3%) I HT 1 46
A7 | &5 BRET 2 47
48| =& HT 25 48
L 49|/ \EFHT 8 49
50|~ EFET - 50
51|HREERT 2 51
52| = [ BT - 52
" 53 (11 AT o BEE
s o e -1 =
55| XN EERT - 55
56| ;R THET - 56
57| BREH - 57
58| FT b ET 1 58
N T 1 =
60|24 - 60
61| % Dt - 61
[CHS 788




